3

d Moanufmctumr of Cpdo-Mde

Motorized Rotation Stage

- . i
20 [o——g-— #
§ ~
MdxB deep : ey
4 holes ™
{ ©
7 1
100 -
caobles from limit switch
L I L - ; l
f_ o L )
T %
Mdx7 dee il
4 holes Bl o Méx/ deep

Pos -

30 1

clear apenune

AL P 37T

22 Wik, Lifhusils
Thsewr: & AT1GME 1873
Fie 3705005 14ILE
F-mmidl: sibestiin lmala ll

hiagiicnl quiproeot or possaech, indistey wisd odecation  hiipsassisndali

8MR191-30

o
04
.21.1010

i
i
in 0
o~
e e
'
h
for Mé
(1/4-20) screw

3 dearance holes




standa P Hen 577

. S V. 1
- Placanan + 370290 74
H Fases o427 0:8- 208 1 40

d : 2 - Eermalk: slessimatanda )i
hdamniscturar of Opto-hachamical equipment for resaarch, industry and aducation i wes steisk 8

Motorized Rotation Stage 8MR191-28

dial knob

—

i
2 PRI

1
\::ublewiﬂ"l

connector HDB15(M) s

a0
101 |\ for Mé
(1/4-20) screw

3 dlearonce holes




standa PO e 477
=1 12 Wi, Litlnsaia
te— Flwrmn: +3700-2005 1474

Fanc +57 -2 15T

: gkl silimon=tarda. o
~ Manufacturer of Opto-Machanical scpaipment for resoarch, industry and aducation kpsss st bt

Motorized Rotation Stage 8MR191-4233

96
101

for Mé&
{1/4-20) screw

3 clearance holes




standa POk By 377

il AT Wiz, L Bl

o q Phane + 37005265 1474

T Farc 43708 265145
irial Frmuudl: v bevic nBatmlan )8

- Manufacturer of Opto-Machanical equipment for research. industry and aducation bitpswwsstada

Motorized Rotation Stage for Vacuum 8MR191V-VSS42

[- i
I[ 1 1 _ ] i 5
| &-—. S o
[l /9 E‘I J
M‘h?de&p/ 50 Mé”‘?dﬁep
4 holes

42

106

.. % A MBxb deep
L 101 o X forkas
162 | (1/4-20Q) screw

3 clearance holes



standa P.CY Hors 377

. S V. 1
. Placanan + 370290 74
H Fases o427 0:8- 208 1 40

L Eermalk: slessimatanda )i
d hdamniscturar of Opto-hachamical equipment for resaarch, industry and aducation i wes steisk 8

Motorized Rotation System 8MR191-SM

connector for cable*
’ - =
= 95 o
vd
W' I =
@90
o B65_ |
3 Gflﬂﬂ ]

106
=
[ %]
o

—~

Mdx5

B -E'I'PDIEE ]9& -

for Mé (1/4-20) screw

3 clearance holes

*Cable supplied with BMR19 1-5M consists of power cable and R5232 communication
cable and incdudes connector to computer R5232 (D5UBY), connector to mator [DSUB 7W2)
and power connecior [SOCKET DC 2.1/5.5 mm for Cable).



stand Pk B 377
HHH o2 Vilmlus, A s
o -+ 1900-200 14 04

e 43 F-0- 3 D

Lyt Beomil: saliwsiis nmida B
Mannfactunr of (hysto-Mochanical ooudposust For msoanch, idustey aiel ooucsbion  bepgSewwsianila b

Motorized Rotation Stage 8MR191-1

20 | / ff-sﬁze..-_\

™S cl_Fui.; opertyre \

M4:E d‘E"E i 'l i : e

4 hﬂ'lﬂ?l -, .."M, , [ﬁl |E5 .IlI
/ retcining \
| rings l] o~ '

9

i

101

75(3"
) (1/4-20) screw

3 clearance holes

- En_[[_ .
2]




PR, Bk 1 FT

standa
e MERT Vilnbes, Lilhoanda
fr i Planimes @ 7052005 14 T4
immey Fam: w00 fie 2055 | 802D

=1 84214 y - Eamaill; malrafvetamia B
H Manubsciurer of Opto-Mechanical equipmant for research, industry and education biipvws st B

Motorized Rotation Stage 8MR191-ZSS43

LY Fi

[.- 1
w0 - : .
9 o —qlg d2
- - '|' '
Mdx7 deep / 50 Méx7 deep
DB?(M) 4 holes 4 holes
Mdx5 deep
8 hel
) 78 5 ; e N es
M6 decp | M35 deep™
K [Bhokes !
stepper : ° 4 i
miotor - -
S - ;
&= l_.I' ‘\"
ﬂg_é___ ! _ah,_f_,f | = .
= e S . ﬂ""'_'..q E & gE
ﬁﬁﬁ - .I____'i‘ffﬂ:v:?;ﬁ;_;{\ _III"—I-IL E
gﬂj _F,_-a-"';:- ll :g h_-:.____ ﬁ#f
25 e
gos 1NN 3 ¢
7937
V'
- 101
- 203
for Mé
(1/4-20) screw

3 clearance holes



standa P, itk 377
OE0ER W hmlus, Libiasils
i Plamiee #1501

st 43705 2900 43

-: — !‘-1.mu_rm.1umr '|d"|."ﬁ|tl.l-!'l.-ll=..ll.t.'|lln.'.al uqlliFm!l.‘IJt |i!! h'.eh.a::l.:!J. t.lu.ll::rill'.lr Al dcdneation :::"l_li:i‘l';“..]‘:r-':;:llr'jl'u.ll
Motorized Rotation Stage 8MR191
i
@70
MoB deep
4 holes i,
§
J 1
L 100 ‘

20
?‘ﬂsn

96
85

.21 1010,

@50

@25
Mdx5 dEE
8 holes !
for Mé ; !
(1/4-20) screw 75(3) 0 8L
3 dearance holes Q7 oo




standa

Pl P 3057

2 Vilmiis, Lithuisila
Plasne: +370-5-205 1474
Fan: 400 [-2= 180 14150
Fepmmi ]l med Jomaiata Bt s 10

- Mamifscturos of Opto-Mochandoal equipment for mssamch, industry and oducation betgwaow staeda

Motorized Rotation Stage

8MR191-4247

damper RD1

DB9(M)

M4x5 d
8 holes
y 1
1§S
1
?ﬂSll;
92 \ MBxS deep
101 =\ for Mé&
161 (1/4-20) screw

3 clearance holes



